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Instructions to candidates ~ Y

Separate the Answer lqﬂﬂlﬂm the question paper.

2 Write your name, u”ﬁtlm number and school/centre name and code
on the Answer

This paper cgpﬁ%nfm Sections A and B.

"*-:
4  Answer é‘ “-';-' pestions in both sections of this paper.
-‘l"_. question, four suggested answers A, B, C and D are given.
se the best one and show it on the answer grid in the Booklet by marking it
with a cross (x).

Example, if the answer is C it will be marked as shown: A |B D

6 Section B: write all the answers in the spaces provided for section B in the Answer
Booklet.

7  Hand in the Answer Booklet and the rest of the question paper separately.

Information for candidates

Cell phones are not allowed in the examination room.
Calculators are not allowed in the examination room.

DO NOT TURN THIS PAGE UNTIL YOU ARE TOLD TO DO SO.

DECZ/2020004 This question paper consists of 13 printed pages.
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SECTION A

Mark your answers with a cross (X) on the Answer Grid provided in the
Answer Booklet.

1 Which one of the following changes is only assodated with puberty in females?
A  Breasts grow
B Voice becomes deeper
C Hair grows in the armpits
D Start having wet dreams

2 The following are the organs in the male reproductive sys!

1 Penis

2 Urethra

3 Epididymis

4  Testes =

In which order is the comect sequence
ejaculation?

A 1—2—3—4 ?Q
B 3—4—2—71

c 4_*3—12_’&@

3 Rickets is a nutritiorial"defici

nnal
e )

disease caused by lack of...in a diet of a growing

4  Which of the following is not an example of ways of preventing pollution of the
environment?
A Reducing the use of plastic bottles used In soft drinks industry.
B Re-using the plastic bags for groceries at the super market.
C Recyding the plastic bags used for soft drinks.
D Burying the plastic botties used for soft drinks,

Irbgrmbad ohmesn Sl 1 000
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§ The diagram below shows an animal cell.

Identify the part labelled N.
A Cell wall

B Chloroplast

C Cytoplasm

D Nucleus

6 The term "Geotropism” refers to the movement of

chemicals.,

gravity.
light.
water,

o w»®» g

 pnNnw

ass 10kg on earth (gravity 10m/s’) Is taken to the moon for an
on weight. What will be its mass and weight on the moon if the
acceleration due to gravity at the moon is 1.6m/s*?

Mass (Kg) Weight (N)
A 10 16
B 10 160
C 5 16
D 5§ 160
e i Dot & %00 SO [Turn over
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9 A metal object of mass 100g was placed in water as shown in the diagram below.

.- .

Calculate the volume and density of the metal object used in the experiment.

The correct volume and density of the metal object is.. :_j;ig;ifﬁ

"n"nl;mu {ﬂ'ﬂ"] Density {ifm‘_]_ -’.; oy : Yt
A 25 4 = ;_j
B 50 2 F:
: s | AT
° £ O
10 Study the diagram showing a mw-“jge . ES—
N
¢j< W

Bridge e

AN N AVAVAVAVAVA

e %

One end of the bridge was fixed while the other end was not fixed to the
surface, at the point marked “P”, This Is to allow. ..
A water to pass when the river floods.

B the bridge to contract during cold season.
C the bridge to expand due to heat,
D the rollers to move freely during contraction.

11 Which of the following is the correct function of blood plasma? It..
A transports water, body waste and food nutrients,

prevents back flow of blood in the blood vessels,

adds oxygen to the blood and removes carbon dioxide.

fights germs in the blood to prevent diseases.

oNnm

Irfegraled BclencaBlA 2020
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12 The list below shows organs found in the human respiratory system.

1 Trachea

2  Bronchus

3  Bronchioles

3  Nostrils

Which of the following sequences is the correct order of passage of air during
inhalation?

A 1—3—2——14
B 4—2—3—1
C 2—m4—3I——1

D 4—1—2—3 %‘;E&

)
13 To reduce the spread of HIV and AIDS, mmﬁm:dﬂngﬂ
Treatment (VCT). Which one of the fallowing is not
Tov:
A know one’s status. ¥

B avoid re-infections.
C prevent un intended pregnancy

D live positively with one’s

Which chemical compound is found at position marked P and R in the diagram?

Selective breeding between similar species.
Selective breeding agoss completely different speces.

P R
A Ammonia Nitrates
B Nitrates Ammonia
C Nitrates Nitrites
D Ammonia Nitrites
15 Which of the following is a correct example of cross-breeding?
A Self-poliination.
B Breeding within the same family.
C
D
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16 Which of the following equations best describes the process of photosynthesis?
Oxygen + Hydrogen ——> Water

heat
Carbon + Oxygen ———> Carbon dioxide

Glucose + Oxygen —> Water + Carbon dioxide + energy

Water + Carbon dioxide o> Giucose + Oxygen

17 Study the following chemical reaction between sodium chloride and silver nitrate.
Sodium chloride + Silver nitrate — Silver chioride + Sodium

o Nn @ »

What name is given to such a chemical reaction? o\
A Decomposition Qﬁﬁ”
B Double replacement F o

C Single replacement \J

D Synthesis ‘% "

18 Theuiagrambelnwsmmatypeuflegﬁgb
s

3
Identify the type of ler % explain its use in daily life.
Camera
Telescope
Camera
Telescope

(=D o T -- I

19 Which of the following best explains what energy is? Energy is the. ..
A ability to do work.
B force used per unit area.
C  ability to provide power.
D potential difference between two points in a circuit.

20 Calculate the pressure exerted on the ground by a metal object on an area of
0.50m’ if its weight is 200N. The pressure will be._.

4000Nm’

400Nm’

0.0025Nm’

0.00025Nm*

oA m>»
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goto zedpastpapers.com for more



Page 7of 13

SECTION B

Write all the answers in the spaces provided for section B in the Answer
Booklet

1 THE HUMAN BODY

Study the diagram illustrating a process in sexual reproduction involving
gametes (sex celis) R and Q.

(a) Identify gamete R. @{@ (1]

(b)  Name the organ that'produces gamete Q. [1)
AS
() ‘What 3O between gamete R and Q that results into the
zygote? & s [1]
o
(d) organ in which the zygote is produced. (1]
(egfﬁ@ term is given to the period from the time the zygote is
if produced to the time of birth? [1)
(ii) How long is this period of development from zygote to child birth in
human beings? [1]
Total = 6 marks
Integrated ScienonS0 /2000 [Turn over
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2 PLANTS AND ANIMALS

Study the diagram of a cell as seen under a light microscope.

(1]

(b)  Which labelled features on the cellfi thediagra

identify the cell in (a) above? [1]

thdred in the diagram that are found in
lis: (2)

(c) State two features of t

ont the substances which make up the
(2]
Total = 6 marks

3 Scurwy
(a) What shortage of nutrients results into
(i)  marasmus,

(ii) kwashiorkor? (2]
(b) State the symptoms of a person suffering from [2)
(i)  scurvy,
(i) marasmus.
(c) What vitamin is needed in a diet to avoid scurvy? (1]
(d) Explain the importance of children’s dinic in relation to preventing
nutritional deficiency diseases. (1)
Total = 6 marks

Iregratad ScencaS0201 2030
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4 MATERIALS AND ENERGY

The diagram below illustrates a model of a tiny particle that form matter.

(a)
(b)

(c)
(d)

{l%@lﬂh example of a molecule with the same type of atoms. [1]

. .
From the diagram, identify QQ) i

(i)  electron,

(i) :udeu.t Q? 2]
What s a mé [1]

What substa \ce Is formed when hydrogen and oxygen are chemically

(1]

Total = 6 marks

intngrated Suence G 12020 [Turn over
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5 MATERIALS AND ENERGY

Study the diagrams on an experiment of light with objects, P and Q

(a)  Which of the two objects Por @

(i) s transparent?

(i) has a shinny opaque slirfice? [2)
(b)  Give the reason that helfeskyou identify the transparent object in

(a) above & (1]
(€)  What name |@n to the

(1) ,Jr elled T,

(i) ‘dngle labelled X. [2)
[dm does the ray R bend as it enters object P? [1]

Total = 6 marks

Irtingpated SchenosS051 2000
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6 THE HUMAN BODY

The diagram shows blood flow in blood vessels labelled R, S and T in a human
body, to and from muscles.

(a)

(b)

(<)
(d)

(i) R. ReA [1]
F .

From the l:h'a\pg;@,t give one reason for identifying blood vessel S in (a)

(i) above. . .0 [1]

. " ol
Which‘blood'vessel, R, S or T will have a lot of carbon dioxide? [1]

F o

ghest two substances which can be exchanged between blood

,’_“;{x' ssels R and muscle tissue. [2]

3

Vv Total = 6 marks

7 THE ENVIRONMENT

(a)
(b)
(<)
(d)

Apart from the nitrogen cycle, name two cycles in the biosphere.  [2]
What is the importance of the knowledge of cycles in the biosphere? [1]
Give one importance of water management. [1]

Suggest two ways of effective water management. (2]

Total = 6 marks

integraled Sdence/S0% 1202 [Turn over
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8 PLANTS AND ANIMALS

The table below shows some examples of animals and plants.

Animals Plants
1 Cattle 1 Mango
2 Rhino 2 Orange
3 Chicken 3 Mukwa
4 Elephant 4 Sausage
5 Lien 5 Mukula &
(a) From the table, select ?:ﬁ‘\)“f
(i) one animal domesticated by man, P ;.-;_—f 1]
(i) one plant domesticated by man. % [
(b)  Which animal and plant are in dangg" # 4n|:tim? (2]
(c) For the animal and plant idenJ }ahmre, explain why each is in
danger of extinction Mg (2]
Qi 3"” Total = 6 marks
ﬁﬂ«‘
9  MATERIALS mn: Eiﬁtﬁ?
o
(a) What lk% ical reaction? [1]
(b) P/, e | :~ ' g word equation demonstrates a type of a chemical reaction,
f»:, dpper + Oxygen —» Copper Oxide
! ﬂﬁhat is such a type of reaction called? (1]
(c)  What type of reaction Is the electrolysis of acidified water? [1]
(d) Explain the following nature of a chemical reaction.
(i) Endothermic [1]
(ii) Exothermic (1]

(e) Explain the Law of Conservation of matter in chemical reactions. [1]

Total = 6 marks
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10 MATERIALS AND ENERGY

Study the elediric drouit diagram below showing resistors connected to cells
each having equal voltage.

—i 10 |—| 10 |—| 10 I ’ai“r;“*
L) G
(a) How are the resistors in the arcmbmméﬁeﬁ? [1]
(b) Calculate the total resmmané@d\by the resistors. [l
(c) Calculate the voltage acm Ehe three resistors in the circuit. 21
(d) What is the wlla-ge "B of the cells in the circuit? m

(e) Wmtwmu!g,bkli‘kvahmnfﬂmmlmﬂagemmemsmnmlfﬂm

current {m‘éﬁ? [1]
R < \ Y Total = 6 marks
&Y
Irtegrated Scisnca/S02 2020

goto zedpastpapers.com for more



